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* * * * *♦join our family of caring volunteers
GOLD ’N FANTASIES
Fine Gold & Silver Jewellery Distress Centre Markham Needs You

by David Gardner

Training starts Thursday. November 8, 7:1 5 pm. 
(12 week course)

Location: Thornhill Community Centre 
(Bayview and John)

VOLUME V:
1 During an electrical storm, all 
the power went off in the York 
residences. One exceptionally 
bright student decided that the 
only way to keep his beers from 
getting nauseatingly warm was 
to drink them immediately.

However, since the lights 
were out, he could not discern 
between the twenty-four Bud- 
weiser and twenty-four Grizzly 
beers in his fridge.

What was the minimum 
number of beers that the stu­
dent had to remove from the 
darkened fridge before having 
two of the same kind of beer? 
2. Cross out six letters and you 
will be left with an everyday 
word:
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(Excluding School Rings) EXPIRES NOV 15/90

Business Hours:
Monday-Friday
11:00 a.m. - 6.00 p.m.
Phone: 665-7747
Ross Building,
Central Square

For more information, please call 731 6068

INTERESTED IN 
STUDYING ABROAD 

NEXT YEAR ?

3 At an international sports 
banquet, six Italians, five Chi- 

and four Englishmen are
to be honoured The athletes 

to sit in a row between the 
sponsor and her husband.

How many different arran­
gements of these 17 people are 
possible if the athletes of each 
nationality must be seated next 
to each other?
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Answers to VOLUME IV (Wed. 
Oct 17):
1.29. Our man is the ninth in the 
batting order, and all the play- 

including him are walked. 
Our player makes all his outs 
trying to steal home while the 
#3 hitter is at bat.
2 None. In the first inning, the 
lead-off man and the next two 
players load the bases. Then 
the next three players strike out. 
In the second inning, batters 
seven through nine all get on 
base. This brings up the lead- 
off man again But the runners 
all attempt to steal and are 
tagged out, which brings the 
lead-off up first in the third 
inning, and the sequence is 
repeated again until the ninth 
inning.
3.1 to 0. in Toronto, and Mont­
real threw 25 pitches. Minimum 
number of pitches — one pitch, 
each player, each inning. But 
one pitcher could have gone 
only eight innings if his team 
batted first and fell behind, so 
the bottom of the ninth was not 
played So the pitcher needed 
only 24 pitches.

But since Montreal lost, 
Toronto must have scored a 
run. Therefore, there must have 
been a 25th pitch for a Toronto 
homer. Since visitors always 
bat first, the game must have 
been played at Toronto.

, at both

afforded the opportunity of studying in a foreign country as well as 
receiving full credit for their courses. Should you be interested in 

exchanges, plan to attend the following information sessions.
ers

Konstanz University in Germany 
October 29,1990 

Room 169 South Ross 
3:00 - 4:00 pm.

University of York in England 
October 30,1990 

Room 171 South Ross 
4:00 - 5:00 pm.

Umeâ University in Sweden 
University of Copenhagen 

October 31,1990 
Room 169 South Ross 

3:00 - 4:00 pm.

University of Calabria in Italy 
November 1,1990 

Room 171 South Ross 
3:00 - 4:00 pm.
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further information contact The Foreign Student Counsellor at 
The Office of Student Affairs, 124 Central Square. 

736-5028
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